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— EEE (BNE3 S, H249) (3. 4. 5AZHE)
1. FHEXHENEE R RBR AT Do
(a) IEERGAHEERE. AR A BT,
(b) BB RGEREHS A TR AS AR ER AL R s
(¢)  REFSHEN R G KA B A5 T A 254
(A TB I ZRGE (AT 55 0 22 85 A 0 %o 52 140 2 5 ek A S 4306 B 2 At

2. K LTI &G Mm% x[n] = 2" {u[n+1]—u[n—21} , sz ek 2 h[n] = S[n+1]+ s[n-1],
Wz &g yIn] = x[n]=h[n] A4 ( Do
(a) y[n]={1/2,1,3/2,1,2},n=-2,-1,0,1,2
(b y[n]={1/2,1,5/2,1,2},n=—2,-1,0,1,2
(o) y[N={1/2,1,3/2,1,2},n=-1,0,1,2,3
(d) y[n]={1/2,1,5/2,1,2},n=-3,-2,-1,0,1

sin(2w)

3. LTI REMBENN H (jo) = AL C ) MR y(£) = 0.

(@) x®)= 3 ut-4n)-ut-1-4m} (b x()= > {5(t-+1-4n) - 5(t—1-4n)}

N=—0

//‘[x(r)
_ o0 4 P ‘ ‘ -
(0 x(©)= 3. a(t-4n) @ 0‘ 1 e
-1
4. THIRMESH, ( ) BAA R D%,
(a) X[n]=(n+1)° (b) x(t) = cos(t) -u(t)
(¢) X[n]=cos(nz/3) () x(t)=¢e', —oo<t<+owo
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5. FHPRZESH ( ) TR B 2 Re { X (jw)} =0
x(t) x(t)
N / T ’
S \4 B
(b)
$ 20
AR L
2 't
$ ]
c) ()
6. costxe ‘u(t) = ( Do
(a) cos(t+%) (b) cos(t—%) (¢) %Cos(t+%) (d) %cos(t—%)
7. ESEE S X() MEEE N o, =10°zrad /s, £ AR MRS (145 S ik R
JRAE T, WIZRZERE RIS ) So
(a) 2x107° (b) 0.5x107° (c) 10°° (d) 10°
8. #RMARLAMISBENRF NG (—1+ jO) i, SEES PRy ( Do
(a) ZEIEIRY (b) K (¢) WP (d) Joim
= E=E (BE49, H249)
1. 5% x[n]=cos[3zn/ 2]+ e 3kl ik ( Do
> —~t A d5(t)
2. HLTI RZGh(t)=e u(t), #HHAX({H)=—=+05(t), Wi y(t)= ( Do
3v 5T X () X, (1) 23t 1 RIEL 2 s, A X (Jo) =& X () i B 2e e, 1) X, (t) /1)
AR X, (jo) iTRRA ( Do
X () X, (t)
i S
172 " |2 3 >
g TNET
Kl 1 2
4. TG RBER) AN ERA RGO R ( ) ( Do
5. XHETHIRGN AR TR TS P tE . FeE k. EffrE, P EEAR) 2 ( Do
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L. (10 43> BEFELLm R A WIE S X () MEEESE D o, , MR EHMRH e, , W
X, (1) = % (1- t)+ X (t— LHHEBEIE 0, 5 o, BITAKER? X, () PR R D,
Ha, ZMKRRRH A2

2+ (10 7p) KR GEE W 3 Pros, mH ARG S, I E RS0 MG i ek

> Gi(s) —> Gs(s)
R(s) — H(s) Gs(s) > Y(s)
> Ga(s) —> Ga(s)
Kl 3

3. (1049 KLt RgE AR x[n] . frd yIn] = x[n]+x[-n] . AIEHZ R GRS
(DEMER? QAR ? B)EIARI? @)F7iCIZr? G)FREr?

7 SITEE (E 7249

1. (204%) MERGE LTI RGNS E 4 Pios, CAEA x() =31, il yt) =-1,
(D GHRGEREH (S) &I Siik;
(2) G RGN (), FEHIB RS
(3)  kx(t)=teu(t)m, Rghh y(t) .
4 RG]

i

3 —1‘ 2 o

K 4

9. (2040) SBUEEBINT LTI RG220 7 y[n]+% y[n —1]—% y[n—2] = x[n]

(1 HHARZGRHH (z) Kisiok:

(2) RS RE A

(3)  BHHARGEWALIEmN h[N], XRGETEF A2
(4) KA x[n]=cosznitt, RLEHIHIH .

ER|
BRI
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3. (1243 W5 ol I35 I R g, H(S)G(S)=%’

(1 B ARG, mil H(s)G(s) M2k K
(2) ARG E KRN AL 451

X (s) ATE » G(s) »Y (s)
H(s)

Kl 5

4 (2049 ERLWE 6 s, x(t) S X (jo) Wl 7 iR, H(jo) i 8 Fi.
(1) () s R (jo)
(2) Wi () KR, (jo)
(3 MT, =1, T, =20, HRlmm y) oY (jo) .

r(t) n(t)

x(t)a?—> H(jw) —><?—>y(t)
cos PO = 3 a(t-nT,)
K] 6
X (joo) L\H(io)
W |
- 0 T =a) -7 0 4 >a)
/7 i 8

pes
S
b=
#
S
=





